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¿Oración	
  =	
  SN	
  +	
  SV?	
  

Desterremos	
  un	
  falso	
  mito.	
  



¿Son	
  oraciones?:	
  

•  El	
  albañil	
  localicé	
  la	
  avería.	
  

•  Un	
  relámpago	
  destrozaron	
  el	
  tejado	
  de	
  la	
  casa.	
  

SN	
  –	
  SUJ	
  (3.ª	
  p.	
  sg.)	
   SV	
  –	
  PRED	
  (1.ª	
  p.	
  sg.)	
  

SN	
  –	
  SUJ	
  (3.ª	
  p.	
  sg)	
   SV	
  –	
  PRED	
  (3.ª	
  p.	
  pl.)	
  

No	
  son	
  oraciones	
  porque	
  no	
  hay	
  
concordancia	
  entre	
  el	
  sujeto	
  y	
  el	
  predicado.	
  



O	
  	
  SN	
  +	
  CONC	
  +	
  SV	
  

Una	
  oración	
  es	
  un	
  sintagma	
  nominal	
  que	
  
concuerda	
  en	
  persona	
  y	
  número	
  con	
  un	
  

sintagma	
  verbal.	
  

El	
  SN	
  realiza	
  la	
  función	
  de	
  sujeto	
  (SUJ).	
  	
  	
  

El	
  SV	
  realiza	
  la	
  función	
  de	
  predicado	
  (PRED).	
  	
  



¿Cómo	
  idenWficamos	
  el	
  SN-­‐SUJ?	
  

Por	
  esta	
  tubería	
  pasa	
  el	
  gas.	
  

1.º,	
  localizamos	
  el	
  verbo.	
  

2.º,	
  buscamos	
  un	
  SN	
  que	
  concuerde	
  
con	
  el	
  verbo.	
  

v	
  3.ª	
  p.sg.	
   SN	
   3.ª	
  p.sg.	
  



Por	
  esta	
  tubería	
  pasa	
  el	
  gas.	
  

*Por	
  esta	
  tubería	
  pasan	
  el	
  gas.	
  (oración	
  agramaWcal)	
  

Por	
  esta	
  tubería	
  pasan	
  los	
  gases.	
  	
  

3.º,	
  hacemos	
  la	
  prueba	
  de	
  la	
  
concordancia:	
  

Si	
  cambiamos	
  de	
  número	
  el	
  verbo,	
  	
  
el	
  SN	
  que	
  sea	
  el	
  sujeto	
  deberá	
  cambiar	
  obligatoriamente	
  
también	
  de	
  número	
  para	
  mantener	
  la	
  concordancia.	
  

Verbo	
  en	
  plural	
  	
  SN	
  SUJ	
  también	
  en	
  plural	
  
Verbo	
  en	
  singular	
  	
  SN	
  SUJ	
  también	
  en	
  singular	
  



Por	
  esta	
  tubería	
  pasa	
  el	
  gas.	
  

Por	
  esta	
  tubería	
  pasan	
  los	
  gases.	
  
Por	
  esta	
  tubería	
  pasan	
  ellos.	
  

Además	
  de	
  la	
  prueba	
  de	
  la	
  concordancia,	
  podemos	
  
probar	
  a	
  susWtuir	
  el	
  sujeto	
  por	
  uno	
  de	
  estos	
  pronombres	
  
personales:	
  
YO,	
  TÚ,	
  ÉL,	
  NOSOTROS,	
  VOSOTROS,	
  ELLOS.	
  

Una	
  vez	
  localizado	
  el	
  SN-­‐SUJ,	
  tenemos	
  que	
  idenWficar	
  el	
  
SV-­‐PRED	
  en	
  su	
  totalidad:	
  

Por	
  esta	
  tubería	
  pasa	
  el	
  gas.	
  
SV	
  –	
  PRED	
   SN	
  –	
  SUJ	
  



Estructuras	
  oracionales	
  

Según	
  su	
  estructura,	
  disWnguimos	
  entre	
  tres	
  
Wpos	
  de	
  oraciones:	
  

•  Oraciones	
  con	
  sujeto	
  explícito,	
  que	
  siguen	
  la	
  
estructura	
  canónica	
  (“modelo”)	
  de	
  la	
  oración:	
  
	
  O	
  	
  SN	
  +	
  CONC	
  +	
  SV	
  

•  Oraciones	
  con	
  sujeto	
  elípWco.	
  
•  Oraciones	
  impersonales.	
  



Oraciones	
  con	
  sujeto	
  explícito	
  

Me	
  gustan	
  las	
  películas	
  de	
  terror.	
  

El	
  museo	
   fue	
  inaugurado	
  por	
  el	
  alcalde.	
  

Nos	
  encanta	
  	
  la	
  sintaxis.	
  

Ha	
  llegado	
  el	
  invierno.	
  



Oraciones	
  con	
  sujeto	
  elípWco	
  

(Yo)	
   Odio	
  las	
  alcachofas.	
  

(Tú)	
   ¡Date	
  prisa!	
  

(Él/ella)	
   Ha	
  pedido	
  asilo	
  políWco.	
  

(Él/ella)	
   Hace	
  crucigramas.	
  



Oraciones	
  impersonales	
  

Ø	
   Llueve.	
  

Ø	
   Es	
  tarde.	
  

Ø	
   Hay	
  caravana.	
  

No	
  Wenen	
  sujeto	
  explícito	
  y	
  no	
  pueden	
  tenerlo	
  en	
  ningún	
  
caso.	
  Se	
  considera	
  que	
  el	
  sujeto	
  es	
  una	
  categoría	
  vacía:	
  Ø	
  	
  
El	
  verbo	
  siempre	
  se	
  conjuga	
  en	
  3.ª	
  persona	
  del	
  singular.	
  

Ø	
   En	
  invierno	
  anochece	
  antes.	
  

Ø	
   Son	
  las	
  nueve.	
  

Ø	
   Había	
  muchos	
  espectadores.	
  

Ø	
   Hace	
  frío.	
   Ø	
   Ya	
  hace	
  semanas	
  de	
  aquello.	
  

¡Excepción:	
  verbo	
  
en	
  plural!	
  

Ø	
   En	
  Suiza	
  se	
  vive	
  muy	
  bien.	
  



Los	
  tres	
  Wpos	
  de	
  oraciones	
  
impersonales	
  son…	
  

Impersonales	
  de	
  verbos	
  
meteorológicos	
  (o	
  de	
  
fenómenos	
  atmosféricos)	
  

Ø	
  Llueve.	
  
Ø	
  En	
  invierno	
  anochece	
  
antes.	
  

Impersonales	
  con	
  ser,	
  
haber,	
  hacer	
  en	
  3.ª	
  p.	
  sg.	
  

Ø	
  Es	
  tarde.	
  
Ø	
  Había	
  muchos	
  espectadores.	
  
Ø	
  Hace	
  frío.	
  

Impersonales	
  con	
  se	
  
impersonalizador.	
  

Ø	
  En	
  Suiza	
  se	
  vive	
  bien.	
  
Ø	
  En	
  su	
  casa	
  se	
  cena	
  a	
  las	
  nueve.	
  


